
https://www.pass2lead.com/jn0-104.html
2024 Latest pass2lead JN0-104 PDF and VCE dumps Download

 

 

 

JN0-104Q&As

Junos, Associate (JNCIA-Junos)

Pass Juniper JN0-104 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/jn0-104.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

 

 

Latest JN0-104 Dumps | JN0-104 VCE Dumps | JN0-104 Exam Questions                                1 / 4

https://www.pass2lead.com/jn0-104.html
https://www.pass2lead.com/jn0-104.html
https://www.pass2lead.com/jn0-104.html


https://www.pass2lead.com/jn0-104.html
2024 Latest pass2lead JN0-104 PDF and VCE dumps Download

QUESTION 1

A user has entered the sequence of commands shown in the exhibit 

At which level of the configuration hierarchy would the user be after typing the exit command? 

A. [edit] 

B. [edit interfaces ge-0/0/0] 

C. [edit interfaces ge-0/0/0 unit 01 ] 

D. [edit interfaces] 

Correct Answer: D 

abc# edit interfaces 

[edit interfaces] 

abc# edit ge-0/0/1 unit 0 family inet 

[edit interfaces ge-0/0/1 unit 0 family inet] 

abc# exit 

[edit interfaces] 

 

QUESTION 2

Host A is communicating with Host B through a Layer 2 switch. 

What is the highest layer that the switch will inspect the traffic in this scenario? 

A. Data Link 

B. Transport 

C. Network 
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D. Session 

Correct Answer: A 

 

QUESTION 3

Which two statements are correct about the request system zeroize local command? (Choose two.) 

A. The command preserves the management interface addresses. 

B. The command resets all key values. 

C. The command removes all data files. 

D. The command removes all user-created files from the system. 

Correct Answer: BD 

 

QUESTION 4

What are two benefits realized by the disaggregated Junos? (Choose two.) 

A. There is increased flexibility to use different control plane versions. 

B. The Junos VM becomes hardware-independent and can be deployed on any hypervisor without modification. 

C. The architecture facilitates programmability through provisioning the control plane, the data path, and the platform
APIs. 

D. The platform drivers and forwarding engine are removed from the control plane to increase performance. 

Correct Answer: CD 

 

QUESTION 5

Click the Exhibit button A packet destined to the 172.27. 102.65 IP address is received by the ge-0/0/1.0 interface on
your Junos device. The input firewall filter shown in the exhibit is applied to the ge- 0/0/1.0 interface. Which two actions
are performed in this scenario? (Choose two.) 
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A. The packet is logged 

B. The packet is accepted 

C. The packet is counted 

D. The packet is discarded. 

Correct Answer: BC 
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